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Soda Sales
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200| .. Freedom High School's Student Council recently conducted a study
g ° on the health effects of drinking soda. The student council members
‘!" 150 * * want to determine how much soda their classmates are consuming.
_3 100! They begin to track the number of sodas sold throughout the day
8 ° from the campus vending machines. They make the nearby graph to

50 ry + show the data they collected on the first day.
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During which hour is the most soda sold, and how much soda is sold then?

The most soda is sold at 5 p.m., and it is about The most soda is sold at noon, and it is about
170 cans. 200 cans.

The most soda is sold at 1 p.m., and it is about
210 cans.
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A car drives at a constant speed and then crashes into a wall and stops. Which of the following graphs
matches this situation?
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Which situation is most likely represented by this graph?
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Billy starts at home and walks to school at a
constant rate. His distance from school is
decreasing.

Silvio has $3.00 and spends $0.50 every hour of
the day.

Keisha has 3 pieces of candy and gives them
away to her classmates one at a time.
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You walk toward a motion detector at a constant rate for 5 seconds and then stand still for 10 seconds.
What will a graph of the distance from the motion detector with respect to time look like? Select all the
statements that apply to the graph.

The first part of the graph will be a rising line The first part of the graph will be a horizontal
segment. line segment.

The second part of the graph will be a falling line The first part of the graph will be a falling line
segment. segment.

The second part of the graph will be a horizontal The second part of the graph will be a rising line
line segment. segment.




